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Answers:
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Solutions:

0.
The number of terminating zeros for factorials is a non-decreasing sequence.  The 

number of terminating zeros for 
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2.
The hexagon’s enclosed area is 
[image: image46.wmf](

)

2

3463

1443

2

=

, and the enclosed area of the triangle is 
[image: image47.wmf]2

3

4

A

, so 
[image: image48.wmf]2

57624

=Þ=

AA

.


[image: image49.wmf]262

4sin4sin462

24124

pp

æö

-

====-

ç÷

ç÷

èø

B

.


Since 
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the enclosed area is 
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therefore, the foci’s 
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By a simple induction, 
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, so to find the critical number of this 
function, take its derivative, set it equal to 0 (since these functions are always defined 
for all real numbers), and solve.  The derivative is 
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critical number is 
[image: image58.wmf]1

xN

=--

.  Since 
[image: image59.wmf]144

N

=

, 
[image: image60.wmf]145

=-

C

.
4.

[image: image61.wmf]2

1

1

111

2

222

0

0

11

1111

limlimtantan1tan0

14

1

nn

nn

ii

n

dxx

ninnx

i

n

p

---

®¥®¥

==

æö

ç÷

æö

ç÷

=====-=

ç÷

ç÷

++

æö

èø

+

ç÷

ç÷

èø

èø

åå

ò

A




[image: image62.wmf]0

4

p

-=

.


Since the cylinder has base area 
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the cylinder is 
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Therefore, 
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Since less than half the balls are blue, there are 4 or fewer blue balls in the bag.  Since 

more than one-third the balls are blue, there are 4 or more blue balls in the bag.  Thus, 

the bag contains 4 blue balls and 5 orange balls.  Therefore, 
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Plugging 
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from the second equation to yield 
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6.
The two curves intersect at the origin and at 
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 has perimeter 50.  Since the positive factors of 50 that are 

larger than 2 are 5, 10, 25, and 50, 
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Since half a leaf covers the range 
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Since 
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